
BOARD REVIEW QUESTIONS (MM - 20) – SESSION NO. 12    February, 6, 2003
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. A patient with low cardiac output following coronary artery bypass grafting is transferred to the intensive care unit where a chest roentgenogram confirms proper placement of the pulmonary artery catheter. Serial pulmonary artery occlusion pressures are then measured. Immediately following inflation of the balloon with 1.5 ml of air in the wedged position, brisk bleeding is noted from the endotracheal tube.

The most appropriate immediate management is to

(A)
withdraw the pulmonary artery catheter

(B)
perform endobronchial intubation

(C)
apply 15 to 20 cmH2O positive end-expiratory pressure to the airway

(D)
administer fresh frozen plasma rapidly

(E)
decrease blood pressure rapidly with nitroprusside

90B-22 (20,6,47)

2. Compared with a normal child, which of the following is expected during inhalation induction in a child with a 2:1 left-to-right intracardiac shunt?

(A)
Decreased rate of rise of alveolar anesthetic tension

 (B)
Decreased anesthetic concentration in pulmonary artery blood

 (C)
Decreased cerebral blood flow

(D)
Increased anesthetic concentration in vena cava blood

(E)
No difference in time for anesthetic induction

91A-147 (20)

3. Four days after mitral valve replacement, a 49-year-old, 70-kg woman who has had oliguric renal failure since the oper​ation requires insertion of a Schribner shunt for hemodialysis. Her BUN concentration is 104 mg/dl, serum creatinine is 9.3 mg/dl, serum sodium is 130 mEq/L, and serum potassium is 6.7 mEq/L. During the operation under local anes​thesia, diazepam 7.5 mg and morphine 10 mg are administered intravenously to control agitation. Five minutes later while she is sleeping quietly, unifocal premature ventricular contractions appear at a rate of 10 per minute on the ECG monitor.

The most appropriate therapy is to

(A)
administer calcium gluconate 250 mg intravenously

(B)
augment ventilation with bag and mask

(C)
administer lidocaine 100 mg intravenously

(D)
administer NaHCO3 50 mEq intravenously

(E)
observe only

91B-16 (32,20)
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4.  A 75-year-old, 60-kg man with moderately disabling heart failure secondary to ischemic heart disease is undergoing a transurethral prostatic resection under halothane-nitrous oxide anesthesia. Resection time is 30 minutes, and fluid replacement has been lactated Ringer’s solution 500 ml. Although heart rate is unchanged, the arterial pressure monitor used because of his cardiac condition has changed from A to B over the last 15 minutes.

The most appropriate management is to

(A)
discontinue halothane

(B)
administer ephedrine 10 mg intravenously

(C)
administer digoxin one half of his daily dose intravenously

(D)
administer sodium chloride 100 ml of 3%

(E)
do none of the above

90A-28 (20,33,6)

5. Appropriate anesthetic management of a patient with hypertrophic cardiomyopathy includes each of the following EXCEPT

(A)
maintaining normal or slightly greater than normal preload

(B)
adjusting positive airway pressure to maintain near normal venous return

(C)
preference for volatile agents rather than opiates for anesthesia

(D)
use of beta-adrenergic blocking agents to increase ventricular wall compliance

(E)
decreasing afterload with peripheral vasodilators

90B-107 (20)

[image: image2.png]



6.
A 64-year-old man is scheduled to have an elective right colon resection under nitrous oxide, oxygen, enflurane anesthe​sia. Following a myocardial infarction two years ago, a programmable VVI pacemaker was inserted for complete heart block. A preinduction rhythm strip is shown above. Based on this EKG finding, the most appropriate action is to

(A)
proceed with induction of anesthesia

(B)
convert the pacemaker to the fixed rate mode

(C)
reprogram the pacemaker to increase R-wave sensitivity

(D)
increase the pacemaker current output

(E)
insert a temporary atrioventricular sequential pacemaker

92B-20 (20)

7. A 72-year-old woman with stable angina is undergoing bowel resection.   Anesthesia is induced with etomidate. Five min​utes after starting isoflurane 1% in nitrous oxide 50%, her blood pressure decreases from 110/84 to 70/40 mmHg. The most likely cause is

(A)
coronary steal produced by isoflurane

(B)
direct myocardial depression produced by isoflurane

(C)
vasodilation produced by isoflurane

(D)
adrenocortical suppression produced by etomidate

(E)
myocardial depression produced by etomidate

91B-3 (20,8,7)

8. A 55-year-old patient with hypertrophic cardiomyopathy (IHSS) is undergoing bladder suspension with enflurane 1%, nitrous oxide 50%, and oxygen 50%. Junctional tachycardia and hypotension develop suddenly immediately after skin incision. The most appropriate management is to

(A)
decrease enflurane concentration

(B)
administer an intravenous fluid bolus

(C)
administer intravenous esmolol

(D)
administer intravenous phenylephrine

(E)
begin nitroglycerin infusion

92A-135 (20)

9. A 62-year-old patient undergoes resection of a descending thoracic aneurysm under anesthesia with morphine, nitrous oxide, oxygen, and pancuronium. In spite of normal somatosensory evoked potentials (SSEP) during the procedure, the patient has paraplegia postoperatively. The factor most likely responsible for failure to note the deficit intraoperatively is
(A)
the effect of nitrous oxide on SSEP

(B)
the effect of morphine on SSEP

(C)
failure to test motor pathways

(D)
hyperventilation to a PaCO2 of 30 mmHg

(E)
unintentional hypothermia to 340C

90B-62 (20,25)

10. A 30-year-old, 70-kg woman with mitral stenosis is scheduled for elective laparoscopic sterilization. Preoperatively she is 
taking digoxin and an unknown medication for chronic mental depression. The EKG demonstrates atrial fibrillation. 
Heart rate is 68 bpm. Anesthesia is induced with thiopental followed by nitrous oxide 50%, halothane 0.75%, and a con​
tinuous succinylcholine infusion. The ventilator is set to deliver a minute volume of 5 liters through an endotracheal tube. 
As the carbon dioxide is being insufflated into the abdomen, the blood pressure is noted to be elevated (150/100 mmHg) 
and 
ventricular bigeminy is present.  The most appropriate therapy is to

(A)
increase the halothane concentration to 1.25%

(B)
discontinue the succinylcholme infusion

(C)
increase minute ventilation to 7.5 L/min

(D)
administer potassium 5 mEq intravenously over one minute followed by propranolol 0.25 mg

(E)
measure arterial blood gas and serum electrolyte values

90A-16 (20)

11. A 46-year-old patient who abuses intravenous drugs develops acute aortic valvular insufficiency from bacterial endo​carditis.  Which of the following statements concerning pressures measured through a pulmonary artery catheter is true?

(A)
Pulmonary artery occlusion pressure will underestimate left ventricular end-diastolic pressure

(B)
Pulmonary artery oxygen saturation will overestimate mixed venous oxygen saturation

(C)
Thermodilution cardiac output determination will overestimate cardiac output

(D)
Right ventricular end-diastolic pressure will equal left ventricular end-diastolic pressure

(E)
The pulmonary artery occlusion pressure trace will most likely have large V waves


91A-111 (20)

12. A 70-year-old patient is shivering and has chest pain in the PACU following a cholecystectomy. Heart rate is 120 bpm, and blood pressure is 220/120 mmHg. SpO2 is 97% at an FIO2 of 0.4. An ECG shows ST-T wave changes, which are not affected by intravenous administration of nitroglycerin. Which of the following is the most appropriate next step?

(A)
Administration of esmolol

(B)
Administration of hydralazine

(C)
Administration of nitroprusside

(D)
Application of a warming blanket

(E)
Increasing FIO2
93A-158 (20,45,49)

13. A 60-kg, 45-year-old woman who takes digoxin for atrial fibrillation receives furosemide 40 mg and mannitol 60 g during resection of a supratentorial meningioma. After initiation of hyperventilation to decrease PaCO2 from 35 to 20 mmHg, multifocal premature ventricular contractions are noted on the ECG. The most likely cause is

(A)
acute hypokalemia

(B)
cerebral ischemia

(C)
impending herniation of the brain stem

(D)
paradoxical air embolism

(E)
surgical manipulation of the meningioma

93B-27 (20,26)

14. During uncomplicated mask induction with halothane and 50% nitrous oxide in oxygen in a 6-month-old infant with a large ventricular septal defect and valvular pulmonic stenosis, SpO2 decreases from 85% (room air) to 60%; heart rate is 100 bpm and blood pressure is 62/40 mmHg. The most appropriate management is to

(A)
administer atropine

(B)
administer phenylephrine

(C)
administer propranolol

(D) increase anesthetic depth

(E) intubate the trachea

93A-86 (20,44)

15. A 33-year-old woman is scheduled for emergency appendectomy under general anesthesia. She has hypertrophic cardio​myopathy and has had two episodes of syncope in the past year. Which of the following statements concerning anes​thetic management is true?

(A)
Spinal anesthesia is preferred to general anesthesia

(B)
Deep levels of isofiurane anesthesia are appropriate

(C)
Fluid administration should be restricted

(D)
Phenylephrine is preferred to ephedrine to treat hypotension

(E)
Positive end-expiratory pressure will decrease left ventricular outflow obstruction

91B-13 (20)

16. A 25-year-old man with Wolff-Parkinson-White syndrome has paroxysmal supraventricular tachycardia with a heart rate of 200 bpm during insertion of an intramedullary rod for a femoral fracture. Duration of the QRS complex is 0.12 sec. Each of the following antidysrhythmic agents would be appropriate for use in this patient EXCEPT

(A)
lidocaine

(B)
metoprolol

(C)
procainamide

(D)
propranolol

(E)
verapamil

90B-108 (20)

17. A 75-year-old man with a left bundle branch block is undergoing placement of a pulmonary artery catheter through the right internal jugular vein. He becomes pale and his heart rate decreases to 40 bpm when the catheter tip enters the right ventricle. The most likely cause is
(A)
a catheter loop in the right atrium

(B)
acute myocardial infarction

(C) acute pneumothorax

(D) carotid sinus reflex

(E) complete heart block


90B-6 (19,20,6,47)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


    A
B
C
D
   E
                            
1, 2, 3
1, 3
2, 4
4
All are


only
only
only
only
correct

18. A 76-year-old man with a history of angina, dyspnea on exertion, and syncope attributable to aortic stenosis is brought to the operating room for open reduction of an ankle fracture. An ECG shows sinus rhythm. Anesthetic considerations include:

(1)
Nitroglycerin is contraindicated



(2)
Atrial fibrillation should be treated with synchronized cardioversion

(3)
The risk for cardiac complications is the same as that of patients with coronary artery stenosis

(4)
Spinal anesthesia is relatively contraindicated

93A-39 (20)

19. A 68-year-old man is to undergo repair of a thoracoabdominal aortic aneurysm extending from the proximal descending aorta to T12. A shunt placed from the ascending aorta to the femoral artery will

(1) decrease the risk of paraplegia


(2) 
 prevent hypertension after application of the aortic cross-clamp

(2) increase the risk of postoperative bleeding

(3) make lower body blood flow dependent on upper body blood pressure

90B-112 (20)

20. Epidural anesthesia for cesarean delivery is planned for a 30-year-old woman in labor. She has preeclampsia and takes propranolol for mitral valve prolapse. A test dose of 3 ml of 2% lidocaine containing 15 (g of epinephrine is adminis​tered, and no change in heart rate is noted by palpation of the pulse. Prior to injection of more local anesthetic, blood is freely aspirated from the catheter.  Explanations for failure of the intravenous test dose include:
(1)
The pain of labor masked the change usually seen with the test dose


(2)
Pre-existing beta-adrenergic blockade blunted the tachycardia from the intravenous epinephrine

(3)
Changes in pulse rate were too brief to be noted by palpation of the pulse

(4)
Preeclampsia decreased the sensitivity to exogenously administered catecholamines         

93A-38 (16,12,20,43)
1

